
DZ  67 & 68 & 70 12/04/96 Page 1

Congratulations on your purchase of a quality Dee Zee
product.  Dee Zee is recognized as having the highest quality
running boards and accessories on the market today.  We have
earned this reputation by offering our customers a product they
can be proud to place on their vehicles.  Dee Zee meets all the
criteria of manufacturing a custom-fit product which  guarantees
it to be the easiest product to install.

Tools Required
Two 7/16" Wrenches
Drill with a Set of Bits
Tape Measure
Two 1/2" Wrenches

**If you should incur any problems with the installation of this product, please feel free to call us at 1-800-779-8222.
  So that we may better serve you when you call, please have the W/O#, SEQUENCE#, and the DATE

from the labels on the outside of the box.

DRAWING 1 DRAWING 2

DRAWING 3

MOUNTING
BRACKET

DRAWING 4

STEP 1
Apply protective tape along the top of the side rail.

STEP 2
Position the tool box in the desired location on the side rail of the
vehicle.

STEP 3
Locate the best positions for securing the tool box to the vehicle,
and drill four evenly spaced 1/4" holes through the tool-box and
the side rail. Secure together with a 1/4" x 1" carriage bolt (C),
washer and nut (N)1. Refer to Drawing 1.

STEP 4
Position the mounting bracket with holes to the bottom of the
tool-box.  Using the existing hole in the horizontal bend as a
guide, drill a 5/16" hole through the bottom of the tool box.
Secure together with a 5/16" x 1 1/4" hex head bolt (X), washer
and (large) nut (N)2. Refer to Drawing 2. Position the other
mounting bracket to the bottom of the bed. Using the existing
holes in the mounting bracket with holes as a guide, drill two 1/
4" holes through the other mounting bracket and secure with two
1/4" x 3/4" hex head bolts (J), washer and nut (N)1. Refer to
Drawings 3 and 4.  Using the hole in the foot of the mounting
bracket as a guide, drill a 5/16" hole through the floor of the bed.
Fasten the foot of the mounting bracket to the bottom of the bed
using a 5/16" x 1 1/4" hex head bolt (X), washer and nut (N)2.
Refer to Drawing 2.

NOTE:  If more room in the box is needed, the vertical legs may
be mounted closer to the side rail.

PARTS LIST: QTY
Topsider Tool Box ....................................................... 1
Mounting Brackets with Holes .................................... 2
Mounting Brackets ...................................................... 2
Keys ............................................................................ 2
Key Chain ................................................................... 1
Hardware Bag ............................................................. 1
Rolls of Foam Tape for 67 & 68 ................................. 2
Roll of  Foam Tape for 70..........................................1

INSTRUCTIONS:  Please take time to read all instructions
carefully before beginning installation.
NOTE: After drilling, Dee Zee recommends putting a sealant or rust
inhibitor around all holes drilled into the body panel of the vehicle.

MOUNTING
BRACKET
WITH HOLES

DEE  ZEE
67 & 68 & 70

Topsider Tool Box Installation Instructions



DZ  67 & 68 & 70 12/04/96 Page 2

Name:

Ever Lose Your Keys?  Save Yourself Time & Trouble?
Order some extra keys now and have them when you need them.  Please fill out and mail this portion to us.
We'll send you a couple of extra keys for your Tool Box for just $5.00 (American).

Address:

City, State, Zip:

KEY & Lock #:

Day Phone :

Method of Payment :

Cash, Check, Money Order
Master Card
Visa

Expiration Date:

Card Number:
Please mail form and payment to: Dee Zee, Inc.

PO Box 3090
Des Moines, IA  50316

Or Fax to:   515-265-7296


